When using coordinates of points how
do you show each of the following?

1. Two segements are congruent?

Use distance formula to show they have the same length.

2. Two segements are parallel?

Use slope formula to show they have the same slope.

Without using graph paper, use the coordinates of the
vertices of Quadrilateral ABCD to determine if ABCD is a
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Yes, ABCD is a parallelogram because the diagonals have the same
midpoint which means that they bisect each other.

Is ABCD a Parallelogram?

This is only one way to show that ABCD is a parallelogram.

When using coordinates of points how
do you show each of the following?

3. Two segements are perpendicular?

Use slope formula to show their slopes
are opposite reciprocals.

4. Two segements bisect each other?

Use midpoint formula to show they have the
same midpoint.

Without using graph paper, use the coordinates of the
vertices of Quadrilateral ABCD to determine if ABCD is a

Parallelogram.
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Is ABCD a Parallelogram?

No, ABCD is not a parallelogram because the diagonals don't have the same
midpoint which means that they don't bisect each other.



Sec 6-4: Special Parallelograms Quadrilateral Booklet

. ) Rhombus
Quadrilateral Hierarchy: def

Quadrilateral

Isosceles Trapezoid

Since a Rhombus is a Parallelogram it has
all the properties of a parallelogram PLUS
some additional properties.

Definition of a Rhombus: A quadrilateral with four congruent sides.

If a quad is a Rhombus then:
e Opp sides are parallel
¢ Opp sides are congruent
¢ Opp angles are congruent
e Diagonals bisect each other AND



Theorem 6-9
Each diagonal of a rhombus bisects two angles of the rhombus.
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Find the measure of each numbered angle in this Rhombus.
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Theorem 6-10
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The diagonals of a rhombus are perpendicular. %
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Find the measure of each numbered angle in this Rhombus.
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Find the lengths of the sides of A
this Rhombus.

DB =10
AC =24
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Find the length of diagonal BD of Rhombus ABCD
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